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(Person-years)  Person-years &) Crude justedAd

HHEHZ (J61)

W PAPN e 10 909433.5 1.10 1 1

TE=XY 668 1011874.6 66.02 60.82 (32.57-113.55) 65.40 (35.02-122.12)
BYHE (390-991)

=X 490 906782.6 54.04 1 1

T=X9 454 1012520.8 44.84 0.83(0.73-0.95) 0.94 (0.82—-1.06)
94t (392)

CH=XY 14 909311.8 154 1 1

TE=XY 54 1014573.7 5.32 3.47 (1.93-6.25) 3.55(1.96-6.41)
ol &2t (C10-C13)

CHEX|Y 37 909241.8 4.07 1 1

T=X9 48 1014660.4 4.73 1.17 (0.76-1.79) 1.29(0.84-1.99)
71¢f (C16)

=X 1018 901648.6 112.90 1 1

T=X9 1100 1006940.7 109.24 0.97 (0.89-1.05) 1.04 (0.98-1.16)
CHE e (C18)

CHEX|Y 598 905936.9 66.01 1 1

T=X9 681 1010434.7 67.40 1.02 (0.92-1.14) 1.13(1.01-1.26)
X| &k (C19-C20)

=X 496 905724.1 54.76 1 1

T=X9 458 1011198.6 45.29 0.83 (0.73-0.94) 0.90 (0.79-1.02)
FEH(C)

CHEX|Y 53 909148.1 5.83 1 1

T=X9 63 1014448.5 6.21 1.07 (0.74-1.54) 1.14 (0.79-1.64)
| (C33-C34)
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o} 4 Zm| S (C45)

CHEX|Y 5 909463.6 0.55 1 1

LEXA 9 1014844.6 0.89 1.62 (0.54-4.83) 1.83 (0.61-5.47)
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AL
a5 Atgl=  2HEQIE  UME Al EUd HUE Unadjusted Adjusted
d
LEX} 8 501194.0 1.60 1 452184.3 0.22 7.20 (0.90-57.56) 8.30 (1.04—66.63)
Of X} 1 513650.6 0.19 4 457279.2 0.87 0.23 (0.03-2.01)  0.25 (0.03-2.23)
A (M)
<20 0 218039.2 0.00 0 176845.9 0.00 - -
20-39 0 266223.8 0.00 224046.5 0.00 - -
40-64 4 355563.6 1.12 1 323485.6 0.31 3.69 (0.41-33.04) 4.03 (0.45-36.21)
>65 5 174917.9 2.86 4 185085.6 2.16 1.32 (0.36-4.93) 1.21(0.33-4.53)
7HHAS
QL (%S 3 208783.9 1.44 1 216561.5 0.46 3.06 (0.32-29.40) 3.31(0.34-31.84)
Q2 0 206732.4 0.00 0 177763.9 0.00 - -
Q3 2 281235.1 0.71 1 237052.2 0.42 1.66 (0.15-18.29) 1.82 (0.16-20.12)
Q4 (=8) 4 305751.3 1.31 3 266423.6 1.13 1.18 (0.27-5.28)  1.34(0.30-6.03
=L
H=H 4 499305.6 0.80 3 438692.1 0.68 1.17 (0.26-5.23)  1.24 (0.28-5.56)
I4AHsA 1 79649.8 1.26 0 91843.8 0.00 Infinite Infinite
PN E=gl 2 145195.4 1.38 0 127748.6 0.00 Infinite Infinite
AXIS dix| ote 2 290693.8 0.69 2 251179.1 0.80 0.86 (0.12-6.13)  1.11 (0.16-7.91)
o x
=aT
HSZ= 2 431306.3 0.46 3 393375.5 0.76 0.61 (0.10-3.65) 0.65 (0.11-3.88)
HqAS = 1 168950.5 0.59 0 153588.8 0.00 Infinite Infinite
AE=2F 2 94398.4 2.12 0 80237.1 0.00 Infinite Infinite
AXIS dix| ote 4 320189.5 1.25 2 282262.2 0.71 1.75 (0.32-9.55) 2.16 (0.39-11.80)
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